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AW–365
B.A. Part—II (Semester–III) Examination

(Optional Subject)
POLITICAL SCIENCE

(Selected Constitution and International Relations)
Time : Three Hours] [Maximum Marks : 80

Note :— All questions carry equal marks.
1. Select the correct option :

(1) Which is the salient feature of the Constitution of U.K. ? 1
(a) Unwritten Constitution (b) Supremacy of Parliament
(c) Rule of Law (d) All the above

(2) What is the position of King in Political System of U.K. ? 1
(a) Formal (b) Real Executive Head
(c) Appointed Executive Head (d) None of these

(3) Who is the real executive head in U.K. ? 1
(a) King (b) Lord Chancellor
(c) Prime Minister (d) Speaker of Commons

(4) Who is the Chairperson of Commonwealth of Nations ? 1
(a) King (b) Speaker of House of Commons
(c) Prime Minister (d) Lord Chancellor

(5) 'King is dead long live the King' – in the sentence “King” means : 1
(a) Institution (b) Person
(c) Parliament (d) None of these

(6) On whose advice the King dissolves the House of Commons ? 1
(a) Lord Chancellor (b) Prime Minister
(c) Speaker (d) Discretionary Power

(7) Who is the founder of the Cabinet in U.K. ? 1
(a) King (b) Prime Minister
(c) Party Leader (d) Lord Chancellor

(8) Which form of Government is there in U.K. ? 1
(a) Parliamentary (b) Dictatorship
(c) Presidential (d) Federal

(9) What is the tenure of Cabinet of U.K. ? 1
(a) 3 years (b) 5 years
(c) 2 years (d) 6 years

(10) Who presides over the Cabinet meeting in U.K. ? 1
(a) Deputy Prime Minister (b) King
(c) Finance Minister (d) Prime Minister

(11) Who has power to call session of Parliament of U.K. ? 1
(a) King (b) Lord Chancellor
(c) Law Minister (d) Speaker of House of Commons
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(12) Who appoints the Prime Minister of U.K. ? 1
(a) Speaker of House of Commons
(b) King
(c) Party Leader
(d) Lord Chancellor

(13) What is the tenure of the King of U.K. ? 1
(a) 5 years (b) 3 years
(c) Life time (d) None of these

(14) What is the tenure of Prime Minister of U.K. ? 1
(a) 5 years (b) 3 years
(c) 4 years (d) 7 years

(15) By whose Prior Permission the Budget is introduced in House of Commons ? 1
(a) Chief Justice (b) Auditor General
(c) Lord Chancellor (d) King

(16) Who is the link between King and Cabinet in U.K. ? 1
(a) Home Minister (b) Leader of Opposition Party
(c) Finance Minister (d) Prime Minister

2. Write short answers to the following :
(a) Explain the Composition of House of Lords. 4
(b) Explain the Legislative Power of House of Lords. 4
(c) Explain the role of Shadow Cabinet in U.K. 4
(d) Explain the economical power of House of Commons. 4

OR
(e) Explain the Composition of House of Commons. 4
(f) Write the Legislative Powers of House of Commons. 4
(g) Write the Economical Power of House of Lords. 4
(h) Explain the function of Speaker of House of Commons. 4

3. Describe the salient features of the Constitution of (U.S.A.) America. 16
OR

Explain the powers of President of America. 16
4. Write short answers to the following :

(a) Explain the composition of the House of Representatives. 4
(b) Explain the economical power of Senate. 4
(c) Write the composition of the Supreme Court of America. 4
(d) Write the Judicial review power of Supreme Court of America. 4

OR
(e) Write the composition of Senate. 4
(f) Explain the Legislative Power of Senate. 4
(g) Explain the economical power of House of Representatives. 4
(h) Explain executive powers of House of Representatives. 4

5. Describe function of SAARC. 16
OR

Describe composition of SAARC. 16
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AW–365
B.A. Part—II (Semester–III) Examination

(Optional Subject)
POLITICAL SCIENCE

(Selected Constitution and International Relations)
Time : Three Hours] [Maximum Marks : 80

¼ejkBh ek/;e½
lwpuk :— loZ iz’ukauk leku xq.k vkgsr-

1. ;ksX; i;kZ; fuoMk %
(1) fczVuP;k lafo/kkukph oSf’k"Vîs dks.krh \

(v) vfy[khr lafo/kku (c) ikyZesaVps lkoZHkkSeRo
(d) dk;|kph vf/klÙkk (M) ojhy loZ 1

(2) fczVuP;k ’kkluO;oLFksr jktkps LFkku dls vkgs \
(v) ukeek= izeq[k (c) okLrfod izeq[k
(d) fu;qDr dk;Zdkjh izeq[k (M) ;kiSdh ukgh 1

(3) fczVupk okLrfod ’kkld dks.k \
(v) jktk (c) ykWMZ pkUlyj
(d) iariz/kku (M) dkWeUl lHkkx‘gkpk lHkkirh 1

(4) jk"Vªdqy la?kVuspk izeq[k dks.k vlrks \
(v) jktk (c) dkWeUl lHkkx‘gkpk lHkkirh
(d) iariz/kku (M) ykWMZ pkUlyj 1

(5) ^jktk fnoaxr >kyk] jktk fpjk;w gksoks*- ;k okD;krhy ifgyk ^jktk* ;k ’kCnkpk vFkZ dk; vkgs \
(v) laLFkk (c) O;Drh
(d) ikyZesaV (M) ;kiSdh ukgh 1

(6) jktk dks.kkP;k lYyko:u gkÅl vkWQ dkWeUlps foltZu djrks \
(v) ykWMZ pkUlyj (c) iariz/kku
(d) lHkkirh (M) Lofoosdkf/ku vf/kdkjkuqlkj 1

(7) fczVue/;s ea=heaMGkpk fuekZrk dks.k vkgs \
(v) jktk (c) iariz/kku
(d) i{kkpk usrk (M) ykWMZ pkUlyj 1

(8) fczVue/;s dks.krh ’kklui)rh vkgs \
(v) lalnh; (c) gqde’kkgh
(d) v/;{kh; (M) la?kjkT;kRed 1

(9) fczVuP;k ea=heaMGkpk dk;Zdky fdrh vkgs \
(v) 3 o"kZs (c) 5 o"kZs
(d) 2 o"kZs (M) 6 o"kZs 1

(10) fczfV’k ea=heaMGkpk cSBdhpk v/;{k dks.k vlrks \
(v) miiariz/kku (c) jktk
(d) vFkZea=h (M) iariz/kku 1

(11) fczfV’k ikyZesaVps vf/kos’ku vkea=hr dj.;kpk vf/kdkj dq.kkyk vkgs \
(v) jktk (c) ykWMZ pkUlyj
(d) dk;nkea=h (M) gkÅl vkWQ dkWeUlpk lHkkirh 1
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(12) fczVuP;k iariz/kkukph use.kwd dks.k djrks \
(v) gkÅl vkWQ dkWeUlpk lHkkirh (c) jktk
(d) i{kusrk (M) ykWMZ pkUlyj 1

(13) fczVuP;k jktkpk dk;Zdky fdrh vlrks \
(v) 5 o"kZs (c) 3 o"kZs
(d) vkthou (M) ;kiSdh ukgh 1

(14) fczVue/;s iariz/kkukpk dk;Zdky fdrh vlrks \
(v) 5 o"kZs (c) 3 o"kZs
(d) 4 o"kZs (M) 7 o"kZs 1

(15) dq.kkP;k iwoZijokuxhus vankti=d gkÅl vkWQ dkWeUle/;s lknj dsY;k tkrs \
(v) eq[; U;k;/kh’k (c) egkys[kkijh{kd
(d) ykWMZ pkUlyj (M) jktk 1

(16) jktk vkf.k ea=heaMG ;krhy nqok dks.k vlrks \
(v) x‘gea=h (c) fojks/kh i{kusrk
(d) vFkZea=h (M) iariz/kku 1

2. [kkyhy iz’ukaph FkksMD;kr mÙkjs fygk %
(v) gkÅl vkWQ ykWMZl~ jpuk Li"V djk- 4
(c) gkÅl vkWQ ykWMZl~ fo/khfo"k;d vf/kdkj Li"V djk- 4
(d) fczVu e/;s Nk;kea=heaMGkph Hkwfedk Li"V djk- 4
(M) gkÅl vkWQ dkWeUlps vFkZfo"k;d vf/kdkj Li"V djk- 4

fdaok
(b) gkÅl vkWQ dkWeUlph jpuk fo’kn djk- 4
(Q) gkÅl vkWQ dkWeUlps fo/khfo"k;d vf/kdkj Li"V djk- 4
(x) gkÅl vkWQ ykWMZLps vFkZfo"k;d vf/kdkj Li"V djk- 4
(g) gkÅl vkWQ dkWeUlP;k lHkkirhps dk;Z Li"V djk- 4

3. vesfjdsP;k (U.S.A.) lafo/kkukph oSf’k"Vîs o.kZu djk- 16
fdaok

vesfjdsP;k jk"Vªirhps vf/kdkj Li"V djk- 16
4. FkksMD;kr mÙkjs fygk %

(v) izfruh/kh lHksph jpuk Li"V djk- 4
(c) flusVps vFkZfo"k;d vf/kdkj fo"kn djk- 4
(d) vesfjdu loksZPp U;k;ky;kph jpuk Li"V djk- 4
(M) vesfjdu loksZPp U;k;ky;kps iquZfoyksdu fo"k;d vf/kdkj Li"V djk- 4

fdaok
(b) flusVph jpuk fygk- 4
(Q) flusVps fo/khfo"k;d vf/kdkj Li"V djk- 4
(x) izfruh/kh lHksps vFkZfo"k;d vf/kdkj fo"kn djk- 4
(g) izfruh/kh lHksps ’kklufo"k;d vf/kdkj Li"V djk- 4

5. lkdZph dk;sZ o.kZu djk- 16
fdaok

lkdZph jpuk o.kZu djk- 16
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AW–365
B.A. Part—II (Semester–III) Examination

(Optional Subject)
POLITICAL SCIENCE

(Selected Constitution and International Relations)
Time : Three Hours] [Maximum Marks : 80

¼fgUnh ek/;e½
lwpuk :— lHkh iz’uksa ds leku vad gSA

1. mfpr fodYi pqfu, %
(1) fczVu ds lafo/kku dh fo’ks"krk,a dkSu&lh gS \

(v) vfyf[kr lafo/kku (c) ikfyZ;kesaV dh laizHkqÙkk
(d) dkuwu dh vf/klÙkk (M) mijksDr lHkh 1

(2) fczVu ds ’kkluO;oLFkk esa jktk dk LFkku dSlk gS \
(v) uke/kkjh izeq[k (c) okLrfod izeq[k
(d) fu;qDr dk;Zdkjh izeq[k (M) buesa ls ugha 1

(3) fczVu dk okLrfod ’kkld dkSu gS \
(v) jktk (c) ykWMZ pkUlyj
(d) iz/kkuea=h (M) dkWeUl lnu dk lHkkirh 1

(4) jk"Vªdqy eaMy laxBu dk izeq[k dkSu gksrk gS \
(v) jktk (c) dkWeUl lnu dk lHkkirh
(d) iz/kkuea=h (M) ykWMZ pkUlyj 1

(5) ^jktk dk LoxZokl gqvk] jktk vej jgs*- bl okD; esa ^jktk* bl ’kCn dk vFkZ D;k gS \
(v) laLFkk (c) O;fDr
(d) ikfyZ;kesaV (M) buesa ls ugha 1

(6) jktk fdlds lykg ij gkÅl vkWQ dkWeUl dks cj[kkLr djrk gS \
(v) ykWMZ pkUlyj (c) iz/kkuea=h
(d) lHkkirh (M) Lofoosdk/khu vf/kdkj ds vuqlkj 1

(7) fczVu esa eaf=eaMy dk fuekZrk dkSu gksrk gS \
(v) jktk (c) iz/kkuea=h
(d) nfy; usrk (M) ykWMZ pkUlyj 1

(8) fczVu esa dkSu&lh ’kkluiz.kkyh gS \
(v) lalnh; (c) rkuk’kkgh
(d) v/;{kh; (M) la?kkRed 1

(9) fczVu ds eaf=eaMy dk dk;Zdky fdruk gksrk gS \
(v) 3 o"kZ (c) 5 o"kZ
(d) 2 o"kZ (M) 6 o"kZ 1

(10) fczVu esa eaf=eaMy cSBd dk v/;{k dkSu gksrk gS \
(v) miiz/kkuea=h (c) jktk
(d) foÙkea=h (M) iz/kkuea=h 1

(11) fczVu esa ikyZesaV dk vf/kos’ku cqykus dk vf/kdkj fdl dk gS \
(v) jktk (c) ykWMZ pkUlyj
(d) dkuwuea=h (M) gkÅl vkWQ lnu dk lHkkirh 1
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(12) fczVu esa iz/kkuea=h dh fu;qfDr dkSu djrk gS \
(v) gkÅl vkWQ lnu dk lHkkirh (c) jktk
(d) i{kusrk (M) ykWMZ pkUlyj 1

(13) fczVu ds jktk dk dk;Zdky fdrus lky dk gksrk gS \
(v) 5 lky (c) 3 lky
(d) vkthou (M) buesa ls ugha 1

(14) fczVu esa iz/kkuea=h dk dk;Zdky fdruk gS \
(v) 5 lky (c) 3 lky
(d) 4 lky (M) 7 lky 1

(15) fdldh iwoZvuqerh ls /kufo/ks;d gkÅl vkWQ dkWeUl esa is’k fd;k tkrk gS \
(v) eq[; U;k;/kh’k (c) egkys[kkijh{kd
(d) ykWMZ pkUlyj (M) jktk 1

(16) jktk vkSj eaf=eaMy ds chp e/;Lr dkSu gksrk gS \
(v) x‘gea=h (c) foi{kh usrk
(d) foÙkea=h (M) iz/kkuea=h 1

2. la{ksi esa mÙkj fyf[k, %
(v) gkÅl vkWQ ykWMZl dk la?kVu Li"V dhft,A 4
(c) gkÅl vkWQ ykWMZ ds fof/kfo"k;d vf/kdkj Li"V dhft,A 4
(d) fczVu esa Nk;keaf=eaMy dh Hkwfedk Li"V dhft,A 4
(M) gkÅl vkWQ dkWeUl ds vFkZfo"k;d vf/kdkj Li"V dhft,A 4

vFkok
(b) gkÅl vkWQ dkWeUl dk la?kVu Li"V dhft,A 4
(Q) gkÅl vkWQ dkWeUl ds fof/kfo"k;d vf/kdkj Li"V dhft,A 4
(x) gkÅl vkWQ ykWMZl ds vFkZfo"k;d vf/kdkj Li"V dhft,A 4
(g) gkÅl vkWQ dkWeUl ds lHkkirh ds dk;Z Li"V dhft,A 4

3. vesfjdsP;k (U.S.A.) lafo/kku dh fo’ks"krk,a o.kZu dhft,A 16
vFkok

vesfjdsP;k jk"Vªirh ds vf/kdkj Li"V dhft,A 16
4. la{ksi esa mÙkj fyf[k, %

(v) izfruhf/k lHkk dk la?kVu Li"V dhft,A 4
(c) flusV ds vFkZfo"k;d vf/kdkj Li"V dhft,A 4
(d) vesfjdu mPpre U;k;ky; dk laxBu Li"V dhft,A 4
(M) vesfjdu mPpre U;k;ky; ds iquZfoyksdu vf/kdkj Li"V dhft,A 4

vFkok
(b) flusV dk la?kVu Li"V dhft,A 4
(Q) flusV ds fof/kfo"k;d vf/kdkj Li"V dhft,A 4
(x) izfruhf/k lHkk ds vFkZfo"k;d vf/kdkj Li"V dhft,A 4
(g) izfruhf/k lHkk ds ’kklufo"k;d vf/kdkj Li"V dhft,A 4

5. lkdZ ds dk;kZsa dk o.kZu dhft,A 16
vFkok

lkdZ dk la?kVu o.kZu dhft,A 16
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